PHXS 262 Homework € (Ch 20) Sring ‘D3

Energy lost by the masses = Energjga:ned lyuxder
2 ¢1.50k (- 8ms™) (3.00m) =(0-2lg)c AT
C = specidic heat of wafer = 4186 T/ky-"c
L AT = 0.105%C |

1.(sB2)

|

4’. CB16) C(onservation of enenag
(W‘CMC‘M * Myter Cm)ﬂ}"f;) “Metaoun [. Ly + Cuu:be,r (TF - lDO"C)J

T =50"C, Ti=20C = Mgy, = 1299,

2.(385) By conservation of energy
(I-50kq) Cinn (600°C = T¢) = (20.0 k) Cosocter C T ~25.0%C)
2> T = 2‘?.6"&#

area. under curve
= [2x10% T 4
b Work done by the flud =

5.(82) (@ W

~12x16°T
4

3.(8B12>  m= mass of jce =40.09 = O.0k¢

Tce (~l0°C)
l @ = M [0°C- (0°e)]
Tee (0°0)
l Q. = mbg
Wafer (0°C)
Q3 = MCuspr (100°C - 0°CD
Water (00°C)
l Q+= 'MLV
Steam ((00°C) :
| Q, = me,_ C(No°C—100°C)
' Steam (110°C)
Totad onergy needed = Rt R+ G+ Cat Qg

= I 22xm5'3'*

6.(3828) ()
cbd

W= Pllf-1) = 5677 ,
AEw = Q -~ W

= (-4007) — (-567 T)
= 1677 4

T8I For Teothermal exponsion, W = nRT I Yt
A

M e final stafe. BVp = nRT

W= 3000 T
%= | ah
Vf = iS-oL
n= 1 wole

Solu\‘nﬂ for T and V; gives :

T= 305K 4 |
V: = 0.007¢5 mz*



- R.0B36) ) AVy = 3o, Vi AT

v - ._’;_ (,oﬁ@g%yo/’mu.anw..)
a

W = PAVy  (P=afmophenc pressure)
Fa
| = 0.0486 7 4

© A = Q -W = /6.2 kT, (Wi nefigible)

A(SBED @ W= area enclosd by the curve
= 4PV 4
B AEpt = ® -W =0 (¥ i shde= fual shate
Q= W= 4RV, \

ww W= 4P;V; Cfrow )
- = 4nRT;
= 9.02 *J 4

lo- (sB2s) =~ P--‘-Cons*mi-‘, = W= P~V
But. - PV; = nRT
PVs= nRT

L W= P (YT -
nR (T,- T)
4663'%
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